INSTALLATION INSTRUCTIONS
Basin Sets

Congratulations on your purchase of Marbletrend tapware, we are confident that this quality

product will serve you reliably for many years.

These instructions apply to the following products:

féz morb|etreno|

Centre hole
diameter
mm

Model Code

Outer hole
diameters
mm

Max bench
thickness
mm

Madeira Basin Set

MTM313 35 30

35

Sardina Basin Set

MTS313 35 30

35

Component Diagram

Cover

M4 Grup  Dutton

screw

Lever handle

Red spacer ring

Cap screw ’/%

]
%

,,,.
3

o

et

X

Lever connector-

|
Locking cover@

Base flange
with O-ring

X
<

.v.v

RS
-

XXX

A
(5

<

%

0 R
| —
KR
SRR

&

S

(

RIS
R
KL

TR
’0

‘0
.
KL

2o

&2

R

L
%

Bench/Basin top

KRR
%
-
2

0
%%

2
%

he%e!

%

X
RS

<
&
&

LR
a(@l

Rubber gasket
Backing washer-

Valve body

M5 bolt

Operating conditions:
Pressure
Temperature

Threaded base

Flexi-hoses

0.05-1.0 Mpa
4-90°C




INSTALLATION INSTRUCTIONS ©
Basin Sets f{z marbletrend
“@é
Dimension Drawing ]
fa—50—+ —{7 10—+
- 520 -] 105 —I]—
- =050 =l | = @50 |
35max
230mm @35mm @30mm
hole hole hole
HOT COoLD
f= 3-500 =

Install

ation procedure

1. Check installation position, hole size and bench or basin thickness prior to starting Note that the HOT
supply is on the left and COLD supply on the right.

2. A 35mm diameter hole is required for the spout body and 30mm holes for the taps.

3. For

. Fit t
. Atta

o N 0N

each tap assembly:

Unscrew the M5 bolts to roughly fit the thickness of the bench top

Loosen the M4 grub screw and remove the lever handle and the red/blue spacer ring

Unscrew the cap screw and remove the lever connector, locking cover and base flange with O-ring
Insert the tap assembly through the tap hole from the bottom. The 2" male thread should face toward
the centre hole

Fit the base flange and screw on the locking cover, Tighten the M5 bolts from the underside.

The coloured spacer and lever assembly can now be refitted.

Repeat for the other tap.

he spout assembly and tighten the base nut firmly
ch the flexi-hose tails to the 2" male fittings on the valve body

. Flush the hot and cold supply pipes to remove any construction debris
. Connect the hot and cold water supplies to their respective connections
. Turn on the water supplies and check for leaks and tap operation.

Care and maintenance

Occas

ional cleaning with a soft cloth and warm soapy water is all that is needed to keep your tapware in

good condition. Do not use harsh or abrasive cleaning agents.

Depending upon local water quality the aerator may need occasional cleaning. Simply unscrew the aerator
using a broad-bladed screwdriver and clean by rinsing in fresh water.

Should it become necessary to change the ceramic cartridge this can be done by first removing the chrome

cover-|
then b
turned

button and then inserting a 2.5mm allen key to loosen the internal grub screw - the lever handle can
e removed giving access to the cartridge assembly. Both the hot and cold water supplies must be
off before doing this.

In

WARRANTY
This tapware carries a Product Replacement warranty against defects that
appear within a period of 5 years and a Parts and Labour warranty for a 2
year period. The Warranty commences from the date of purchase. WaterMark

defective products by the Australia Competition and Consumer Act.

Products must be fit for purpose and free from material and manufacturing
defects. CONTACT
» Tel 1300 717 717
Please go to www.marbletrend.com.au for full warranty terms and conditions. warranty@johnsonsuisse.com.au

LiCWM0z2191

Australia, consumers are protected from the consequences of faulty or

www.marbletrend.com.au

R1.1




	Page 1
	Page 2

